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Answer both questions.

Group D: Comedy or Historian

Answer the questions on the following passage:

5
An extract of text has been removed :
due to copyright restrictions. : 10
15

HerobpoTus, VIII.60

o 8¢ dAdov Adyou eixero (line 1) may be translated as, ‘He embraced another argument
instead.” In what follows, Themistocles leaves out the chief argument previously used by
Mnesiphilus. What was this argument? [9]

Lines 2—10 (Ev oot . . . amdon 1) EAAad): show how Herodotus makes Themistocles’ speech
to Eurybiades as persuasive and forceful as possible. You should make close reference both
to the content and to the style of the Greek, and support your discussion with at least four

examples from the text. [30]
Lines 10-18 (qv 6€ 7a . . . émt ™ I[ledomdvvmoov): what does Themistocles say will be the
advantages of adopting his plan? Identify and discuss three points, referring closely to the
Greek in your answer. [15]

[Quality of Written Communication: 6]

[Total: 54 + 6 = 60]
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2  Answer the questions on the following passage:

5
An extract of text has been removed :
due to copyright restrictions. : 10
15

Herobotus, VIII.109

(a) Briefly describe the meeting which took place on Andros and the points made by Eurybiades
in his speech. [9]

(b) Lines 5-14 (kat avTos . . . karike): what arguments does Themistocles use in these lines,
and how vividly and emphatically does he make them? You should make close reference both
to the content and to the style of the Greek, and support your discussion with at least four

examples from the text. [30]
(c) Lines 14—18 (aAA’ €0 yap éxer . . . kal Twvins):in these lines, what does Themistocles suggest
that the Athenians should do? Identify and discuss three examples, referring closely to the
Greek in your answer. [15]

[Quality of Written Communication: 6]

[Total: 54 + 6 = 60]
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